Do problems 6.1, 6.7, 6.23, 6.27 and 7.15, 7.17, 7.19, 7.23

6.1

A) = .9418

B) = 1-.9671 = .0328

C) .9671 - .9418 = .0253

D) .9418 + .0329 = .9747

6.7

Mean: 65.16    S.D $10

A) .00094%

B) 30.15%

C) 5.95%

D) 88.46
6.23

Uniform distribution a=0 b=10

A) 7-5 /10 = .2

B) 3-2 /10 = .1

C) 10/2 = 5

D)  =SQRT (10-0)^2 / 12 = 2.89

6.27

Scheduled: 65   Uniform 64-74

A) 70-64 / 74-64 = .6

B)  (70-65) / (74 – 64) = .5

C) 74-65 / 74-64 = .9

D) Mean 64+74 / 2 = 69  SD = squared root (74-64)^2 / 12 = 2.9

7.15

U= 100  o=`0  n=10


A) .0062

B) .1056 - .0062 = .0094

C) 1 - .8643 = .1357

D) 89.7

7.17

A) The sampling distribution would include the distribution of means from the 25 vouchers which could possibly occur.

B) The sampling distribution would include the distribution of means from the 25 absentee records which could possibly occur.

C) The distribution of means from all of the sales (25 of them) which could occur

7.19

Normally distributed mean= 1.3 inches S.D= .04 inches  :::you have a random sample of 16 ping-pong balls

A) The sample is 16 and it will be normally distributed

B) .0228

C) .9986 - .8413 = .157

D) P(A < 

 < B) = P( -0.84 < Z < 0.84) = 0.60




Lower bound: 

 = 1.30 – 0.84(0.01) = 1.2916




Upper bound: 

 = 1.30 + 0.84(0.01) = 1.3084

7.23

A) 48/64 = .75 or 75%

B)  SQRT   .7 (.3) / 64 = .057

_956212498.unknown

_956212502.unknown

_956212492.unknown

